Limits Set 3

... Answers are after each page of problems

Find the limit. Draw a sketch for each problem. Do not use your calculator.

I lim— > =
=1 x—1
3. lim : - =

5. lim —— =
\'%3_(5_\)'
7 lim‘\_f‘:

. \‘3‘,\‘—2
9. lim =

x—2 X—
”_f(x)zjx*—llt x<2

[3x—2if x>2
I1 (x)=
a) .rgl'_;l_ Y (\)

p) lim f(x)=

r—27

e) lim £ (x)=

. 1
12. 11113+[x—3— ]=

x—3 x—3

x=31f x#1

13.g(.\‘)={ )

if x=1

14 b )_J x+3 if x<1
R F T

15. li1n+ tan x =

T
X—==

&

17. lim cscx=
X—=I

> fim- =
e s |
. 1
4. lim =
¥—=5 S5—x
6 lim——+ -
x—2 (3_2)'
8 lml =
x—2
| . a7 -4
10. lim =

lim g (x)=

r—1

lim A (\) =

x—1

16. lim secx=

T
X— 5

18. lim cotx=
r— 0



Limits Set 3
... Answers are after each page of problems

Answers

Worksheet 2 on Limits
| o

13. -2

15, —e0

16. oo
17. oo
18. —



Limits Set 3
... Answers are after each page of problems

On problems 19 - 24:
(a) find lim f(x)
X— oo
(b) find lim f(x)
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(c) identify all horizontal asymptotes.
Use your graphing calculator on problems 23 and 24.
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